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MCO-01 : ORGANISATION THEORY AND
BEHAVIOUR
Time : 3 hours - Maximum Marks : 100

Note : Answer any five questions.

1. Critically examine the scientific management 20
theory propounded by F.W. Taylor.

2. How is individual behaviour determined ? 5+15
Discuss the major factors influencing individual
difference in behavioural pattern.

3. (a) “Pre-inforcement plays an important role in
strengthening or weakening of the
behaviour.” Examine this statement. 10+10

(b) How is schedule of reinforcement helpful
for manager to select a reward for enhancing
the performance of his subordinates ?

4. “ Personality attributes of employees are used in ¢
understanding the behaviour and design suitable
strategies to deal with their behaviour.” Discuss
with the help of various personality attributes.
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5. (a) Describe Herzberg’s two factors theory of
motivation . 10+10

(b) Distinguish between Maslow’s and
Herzberg’s theory of motivation.

6. What do you mean by Job design ? Explain
various models of Job design. 5+15

7. (a) How can you develop an organisational
culture ? 10+10

(b) Explain the dimensions of organisational
climate.

8.  Write short notes on any two of the following :

(a) Managing Multinational Organisation 10+10
(b) Theory of Attribution

(c) Job Enrichment

(d) Contingency Theory of Organisation
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